
ĐÁP ÁN BÀI 2 TRANG 152 SGK TOÁN 5 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 2: Viết (theo mẫu): 

a) 1m = 10dm = ...cm = ...mm 

1km = ...m 

1kg = ...g 

1 tấn = ...kg 

b) 1m = 1/10 dam = 0,1 dam 

1m = ...km = ...km 

1g = ...kg = ...kg 

1kg = ...tấn = ...tấn. 

Đáp án 

a) 1m = 10dm = .100..cm = ..1000.mm 

1km = 1000m 

1kg = 1000g 

1 tấn = 1000kg 

b) 

 

 

https://doctailieu.com/dap-an-bai-2-tr-152-sgk-toan-5
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

